* B B c - 1 6 0 8 0 0 0 2 0 4 0 3 0 1 *

BBC-16080002040301 Seat No.
M. Com. (Sem. IV) (CBCS) (W.E.F. 2016) Examination

July - 2021
Advanced Cost And Management Accounting
(GRP.1-ACC)
1
Time : 25 Hours] [Total Marks : 70
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1 vl esiadet [, vt 28 el A, B, C 4ad 8 2 3 17.5
AR (G glRL sdld dNAHL A 9. e daga (Bl
wEAlE WAL 219 . Bl AR, Yoo Somre]l 18 Hollq es{lsa
R523 dald 200 . dARAAR [Asiu- - AN8Ad qAwl 8
Holld, HERoL R3s2 viddid U 8. i WS Riser, 2sla
R3s22 18 1ol ARl R3se dald AU . 2L Maril [l
uamidl A5 s wnAeuon w2 A yaor Hsdl HA © ¢
L MBSl GuAlol sl HARL RIser, HiSRal Rser, eskisa
R3s22 21 Hla AR w2 wdoed] asl [Buoll xdad qur s,

EER wuR v | sl v

(3Ruani) (3R2nni)
Yasl vl 42,000 40,000
A& [ wouR A adladl wal 1,30,000 1,20,000
QR sMa 2,40,000 2,50,000
el - Al wgRl 8,40,000 8,00,000
(el - Bl wyil 6,20,000 6,00,000
a1l 29,20,000 28,00,000
C - [ewddl Aarumdl 6,40,000 7,00,000
nae(l Rl 1,90,000 2,00,000
C - [aowal ygRl 5,12,000 5,00,000
aarll (el 1Rl 2,55,000 2,60,000
Aal wa : [en - A 1,65,000 1,50,000
Aal v : L - B 1,90,000 2,00,000
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Aal W : et - C 3,50,000 3,00,000
Aal w2 : enaarll e 60,000 50,000
[aewor - Bl waamdl 1,05,000 1,00,000
ARl (el wouRr 2 qdladl wal 95,000 1,00,000
AeAd A 1,98,000 2,00,000
esMse Riserl walr i qgladl wal 2,00,000 1,75,000
W3 Qs wouR i qdladl v 1,90,000 2,00,000
Aol Rl wiEFA wolR 2,70,000 2,50,000
et qAR-dl wIlR 1,05,000 1,00,000
QL 88,00,000 1,00,00,000
2 {0 wasuidl vedl wlsdl A 17.5
[ [ena -X [aend - Y [aewo -7
QL 60,000 75,000 1,00,000
ERETRIREEE ? 25,000 ?
seisidl Basa (3l Ase) 30,000 ?) 50,000
AL U 9MdR (ROT) 15% 10% 20%
el 9 %I AN+l € 10% ?) ?)
AN 2as (R %) 5,000 0
3 [l Ay sudl-l uBu-2-dl wlsdl A 3o § - 17.5
(D) uBAL <. 2 g sl w3 €S 700 AUsH 3. 9,500
2) uBu <. 1 viddl al 20,300 sHL A 3. 1,38,100

3) wBuL <. 3 vid @S 2L 19,300 sl

@) uBuL <. 20 2R es 1000 AAsHL

(BG) oPu 700 VisHl

6) wWBuU . 2+ vl
qleuwdl = 3. 76,560
4yl = 3. 38,160
yAa WAl = 3. 19,080

(M yelai-l sau :

(o A3 wi$ UR WS R

HlaAH LA 80% 70% 100%

»o3l 60% 50% 60%

ua Al 60% 50% 60%
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ENGLISH VERSION

Instructions : (1)

All questions carry equal marks.

(2) Answer any four questions.

1 Three departments A, B, C of Khushi Taxtile Ltd. gives 17.5
their accounts reports to factory manager factory manager with
chief engineer gives their reports to technical directors. Sales
manager with advertising managers gives their report to marketing
director and marketing director with technical director gives their
reports to managing directors. From the account books this
factory found following information. Use this information and
prepare responsibility reports for the managing director, marketing
director, technical director and factory manager.

Particular Actual | Budgetary
Expense Expense
(Rs.) (Rs.)
Traveling Expense 42,000 40,000
Salary Admin Exp. for Advertising
Depatment 1,30,000 1,20,000
Sales Commission 2,40,000 2,50,000
Wages Department - A 8,40,000 8,00,000
Wages Department - B 6,20,000 6,00,000
Materials - A 29,20,000 28,00,000
Materials Department - C 6,40,000 7,00,000
Stores 1,90,000 2,00,000
Wages Department - C 5,12,000 5,00,000
Wages - Stores 2,55,000 2,60,000
Service Expense Department - A 1,65,000 1,50,000
Service Expense Department - B 1,90,000 2,00,000
Service Expense : Department - C 3,50,000 3,00,000
Service Expense Stores 60,000 50,000
Material Department - B 1,05,000 1,00,000
Salary & Admin. Expenses Sales Department 95,000 1,00,000
Advertisement Expense 1,98,000 2,00,000
Salary & Admin. Expenses of Technical director 2,00,000 1,75,000
Salary - Admin. Expenses - Marketing director 1,90,000 2,00,000
Office Salary of Managing Director 2,70,000 2,50,000
Salary of Factory Manager 1,05,000 1,00,000
Sales 88,00,000 | 1,00,00,000
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2  Supply the missing data in the following table :

17.5

Particulars Department-X | Department-Y | Department-Z
Sales 60,000 75,000 1,00,000
Operating Income () 25,000 ()
Operating Assets

(Investment) 30,000 ?) 50,000
Return on Investment 15% 10% 20%
Minimum Required ROR 10% () ?
Residual Income * 5,000 0
3 Following are the data in respect of process 2 of 17.5

Shivani Menu Co. Ltd.
(1) Opening stock of work in progress in Process-2 : 700
units Rs. 9,500

(2) Transfer from Process-1 Acc. 20,300 units and

Rs. 1,38,100

(3) Transferred to Process-3 Acc. : 19,300 units
(4) Closig stock of Process-2 Acc. : 1000 units
(5) Unit scrapped during process 700 units

(6) Expenses of Process 2 Acc. :

Material = Rs. 76,560

Labour = Rs. 38,160

Overhead = Rs. 19,080

(7) Degree of Completion :

Particulars | Opening Stock|Closing Stock | Scrap
Material 80% 70% 100%
Labour 60% 50% 60%
Overhead 60% 50% 60%

There was a normal loss 5% of production and scrapped

were sold at Rs. 3 each. From the above information

prepare.

(1) Statement of equivalent units

(2) Statement of cost per unit

(3) Valuation statement
(4) Process-2 Account
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4  Yash Company gives following details for process "B" : 17.5
(1) Opening Stock of semi-finished goods - Nil
(2) Units introduced in process 10,000 units at Rs. 3 per
unit
(3) Expenses for the process in the month of March :
Direct Material = Rs. 14,650
Labour = Rs. 21,148
Overhead = Rs. 42,000
(49) Normal wastage: 1% of units introduced.
(5) Incomplete units at the end of process : 350 unit
Degree of Completion :
Material : 100%
Labour : 50%
Overhead. 50%
(6) Production of finished goods at the end of process
9,500 units
(7) Degree of completion of abnormal waste.
Material : 100%
Labour and Overhead = 80%
(8) Normal wastage is sold at Re. 1 per unit
(9) Abnormal wastage 1s sold at Rs. 2.50 per unit
On the basis of above information You are required to
prepare :
(1) Statement showrng equivalent units
(2) Statement showing cost per unit
(3) Valuation statement
(4) Process-'B" Account

5  Ajanta Transport Company has been given a route of 17.5
40 k.m. (one way) for running buses. The company has two
buses, each costing Rs. 1,10,000 and having a life of 10 years,
with a scrap value of Rs. 14,000 per bus. From the following
estimated expenditure and other details, calculate cost per
passenger kilometer and the buys fare to be charged to each
passenger for each way journey, assuming 50% profit on
taking.

Insurance charge = 3% p.a
Annual tax for each bus = Rs. 2,100
Total garage rent per month (for both the buses ) =
Rs. 1,200
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Annual repairs for each bus = Rs. 3,000

Driver's salary for each bus per month = Rs. 900
Conductor's salary for each bus per month = Rs. 600
Administrative Expense per month (for both buses) =
Rs. 4,800

Diesel and o1l per 100 kms = Rs. 50

Each bus will make four round trip per day, carrying
on average 50 passengers on each trip. The bus will

run on average 25 days in month.

6 Cost structure of a product is as under : 17.5

Direct Material (per unit) = Rs. 5
Direct Labour (per unit) = Rs. 2
Variable factory exp. (per unit) = Re. 1
Total Variable Cost = Rs.8

Fixed factory overheads are Rs. 3,00.000 and administrative

and selling expenses are Rs. 1,50,000 Annual sale estimate

1s 1,00,000 units.

Capital employed in fixed assets is Rs. 5,00,000 and that

in current assets is 50% of sale Decide selling price per unit

in such way so as to get 25% return on capital employed.

7  Discuss the objectives and pillars of Cost management. 17.5

8 Write Short Notes : (Any Two) 17.5
(1) Management Audit
(2) Importance of Productivity Accounting method
(3) Material and Labour Productivity
(4) Difierence between Cost Audit and Management Audit
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